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A. Explain the following operators:

1.

2
3.
4

B. Fillin the blanks:

1.

Subqueries cannot manipulate their results internally, therefore, ........................
clause cannot be added into a subquery.

A view is a temporary table created basedon ... .
......................... join compares columns for equality.
Views are created usingthe ..................... .. command.

......................... improves the performance of searching data in a table.

C. Tick (v) the correct option.

1.

Which clause is used to combine rows of two tables based on at least one common
attribute?

a. WHERE clause ‘C}‘ b. JOIN clause ‘C}‘
c. HAVING clause ‘@‘ d. FROM clause ‘@‘
Which category of join returns all records from both tables?

a. INNERJOIN b LEFTJON )
c. RIGHTJOIN ~ d. CROSSJON )
What is the purpose of an index in a database?

a. To create temporary tables ‘@‘ b. Toimprove database performance ‘@‘
c. To manipulate query results ‘@‘ d. To delete database records ‘@‘
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